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VEHICLE TECHNOLOGY

Fuifa awa . dm w2) [srfereram 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70
Fe: (i) FYTIHFAEGEE 9 H @ T ar S I A

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(i)  5cqP F9 & G ST F FGIR 0 GIY 5T F7 |

Solve all parts of a question consecutively together.

(iii) 3% 5o F1 73 78 @ YR Ford |

Start each question on fresh page.
(iv) g1 ST9ISTT # 31 87 31 R 7 300 srgare & a8 1

Only English version is valid in case of difference in both the languages.

1 (1) e S 1 ado e e gt 2

(a 04 (b) 0.8
(c) 1.0 (d 0.2
The coefficient of friction for the clutch facing is approximately
(@ 04 (b) 0.8
(¢ 1.0 (d 0.2
(2) wHigee B fir wiew d fir &m § 3ma &
(a) ¥ (b) et i
(c) e firm (d) ¥ afufEs
In constant mesh gear box, gears used is
(a) Spur Gear (b) Bevel Gear
(¢) Helical Gear (d) Rack and Pinion

(3) IAeHETse § v Gedldt H1 § 37T &
a) IAHTEIFARAC (b)) Ful » frmw F o

(c) Sl wgH & fog (d) Fl=geH S o
Shock absorber is used in automobile for

(a) Storing the energy (b) Dissipation of energy
(c) Increase the energy (d) Decrease the energy
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wied wife wearat § 4 i g = # A At R 7

(a) TSI OBEGiE

(c) TIEgeH (d) e SEHTEEES

Which gas is used in Modern Shock Absorber ?

(a) Nitrogen (b) Oxygen

(c) Hydrogen (d) Carbon dioxide

ZgEeE Tt & @y e & | 9 T it wm A e 30 whdr ¢

(a) T =it (b) TR

(c) woreh fazug =i (d) eI =d

Which of the following type of wheel can not be used with a tubeless tyre ?
(a) Disc wheel (b) Wire wheel

(¢) Light alloy wheel (d) Composite wheel
FforaTee 8§ wr: IE # o I aren 9 w2

(a) 3ms.H. S5 (b) NETETEHA

(c) A (d) I A A BT

Most commonly used power source in automobile is

(a) 1.C.Engine (b) Gas Turbine

(c) Battery (d) None of the above

e grgd 1 S foRan ST B

(a) frerogE gem & fag (b) frrwE R s & foe
(¢) firrrduma sgH & forg (d) I A A BIS T
Overdrive is used

(a) to reduce the Gear Ratio (b) to fix the Gear Ratio
(c) toincrease the Gear Ratio (d) None of the above

3 i 3T A B

(a) u T T FRR agem AEE (b)) TRY W HH T
() TfigaAWSEARITEa (d) IWh @
Advantage of free wheel unit

(a) Easy gear shifting at low speed

(b) Less wear in transmission

(c) Fuel saving on long down slope
(d) All of the above
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L(9) TR e i W H I R 7

(a) YW EGE (b) 33N MY FGH

(c) YN T W HH HEAT (d) S TE gH HET

Purpose of slots in the tyre treads is

(a) To increase pull (b) To improve tread life

(¢) To reduce noise level (d) To provide cushioned ride
(10) 2w < uta e &1 314 2

(@) it smed (b) TEEE I

(c) IFTHE &al g (d) 3w H A B TH

‘Ply Rating’ for tyre means

(a) Determined strength (b) Aspect Ratio

(c) Recommended air pressure (d) None of the above

an 2R 39 (Frada) |ramora: faRar s 2

(@) 1000 f.Hi. (b) 4000 fo 1.
(c) 6000 f . (d) 10,000 fop.Ht.
Tyre rotation is generally done at

(a 1000 km (b) 4000 km

() 6000 km (d) 10,000 km

(12) 0 I G AR T A i A 2

(a) dee (b) T

(c) ¥R (d) wHfEER

The capacity of a battery is usually expressed in

(a) Voits (b) Amperes

(¢) Weight (d) Ampere hours
(13) 3r= A firen ) 7 sTEwshdl @ 7

(a) U S TEH (b) u femmE

(c) ¥ AT (d) ST el

What is the requirement of a good braking system ?

(a) Low Pedal effort (b) Low wear

(c) Low maintenance (d) All of the above
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(14) Gma: g v e d @ fpg e & 7
(2) 3w ufEn (b) uva ufgan
(c) ol o & ufed () & afeEi W
The hand brakes usually operate on
(a) Front wheels (b) Rear wheels
(¢) Right side wheels (d) All the wheels

(15) R o i sefifén 6t rdt 2

(a) FHAAH FHEA ST (b) o6 I B HEH F foQ
(c) Ta1H Fen F g (d) ¥ I H1 g 5gH  fog

Bleeding is done in hydraulic brake
(a) for removing brake oil (b) for filling brake oil
(c) for removing air (d) for increasing pressure of brake oil

(16) il & A3 Lt & fou Lafin srua amm 2

(@ 5 (b) 15

() 50 (d) 100

The steering ratio for manual steering of cars is approximately
@ > (b) 15

(c) 50 (d) 100

(17) b Had b L HA & feru 39T &tar 2

(a) ®&a (b) IHiemfes zafiem wa

() Frr d) HEdEee

Torque converteruses  to transfer torque.

(a) Air (b) Automatic Transmission fluid
(¢) Gears (d) Steel Belt

(18) T Tieh et i 31frehan <ieh TUH STUTd ST 8

(@) 2.5 ) 10
(€} 25 (d) 40
The maximum torque multiplication ratio in a torque converter is about
@ 25 (b)y 10

(c) 25 (d) 40
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(50f8) 1082

(19) TR A THRF T8

@) ufed M@ fEufm (b wdte iR womfEn Hie f
(¢ g fEafm () zaTa i e fa

The two kinds of Piston rings are

(a) Compression and oil control rings

(b) Compression and sliding seal rings

(c) Oil scraper and oil control rings

(d) Pressure and sealing rings

(20) Foet & & S |1 S WA sonedt H wrTE # ?

(a) FEafr e (b) 393w

(c) ehet 3IH (d) T

From following which element is not part of steering system ?
(a) Steering wheel (b) Drop Arm

(¢) Knuckle arm (d) Tyre

(21) STirel HivT T AT 8

(22)

(a) HreT I HEX (b) 3T 3T TH.T. 3.
(¢) et 3 TH.U.HE. (d) e IR A-§
The included angle is the sum of the

(a) camber and castor (b) caster and S.A.L
(c) camberand S.A.I (d) camber and toe-in
mw@mw%ﬁm%mﬁ@ﬂaﬁﬂ%
@) (b) =H=E

(c) THES IS () A T

The longitudinal distance between front axle and rear axle centre line is
(@) Wheel Track (b) Wheel Base

(c) Axle Width (d) Axle Length

(23) fr=r il @ a a Afe@ F AR ?

(a) e (b) @
) TR @ f=i
Which one of the following is a part of chassis ?
(a) Seat (b) Door
(c) Differential (d) Window

P.T.O.
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(25)

(6 of 8)
(24) TewifRrme i o gad wor i gar 2
(a) T firr (b) &R
(c) wh13A v (d) urgs firm
The biggest gear inside the differential casing are
(a) Pinion gear (b) Sun gears
(c) Crown gear (d) Side gear
feffeada s o i afm TR d 2 7
(a) e a1 firr afed (b) TT3iEn St FreR St

(26)

(27)

(28)

(c) HiEe A fir sfag (d) iy fire sieg
Which of the following is not a type of Gear Box ?

(a) Linear mesh Gear Box (b) Sliding mesh Gear Box
(c) Constant mesh Gear Box (d) Synchromesh Gear Box
fsrifmea s d g &

(@) T EIEE e e (b) T T 9 T e fir
(c) UHEIa @ firn (d) I90HH Y HE &
The differential unit consists

(a) two sun and two planet gears(b) one sun & one planet gear
(c) onesun & two planet gears (d) none of the above

®R SEId g13d drgAl | fewifiee arar 2
(a) I atE (b) = ufEEn
(c) 31 ud vy ufgar @41 | (d) I3 U ufga

Four wheel drive vehicles have differential at

(a) Front wheels (b) Rear wheels

(c) Both front and rear wheels (d) Any one wheel
TIUeR TR & &d 8

(a) A EIER (b) IS IS

(c) Ifade wame (d) YrsaEE

The propeller shaft consists of

(a) Knuckle joint (b) Flange coupling

(¢) Universal joint (d) Rag joint

1082
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(29) W Ford | 1 Tg W BT 2
(a) 10-15mm (b) 20-30 mm
(¢) 30-40 mm (d) 50-60 mm
Free pedal play in car clutch is about
(a) 10-15mm (b) 20-30 mm
(¢) 30-40 mm (d) 50-60 mm

(30) B odie g1gd aTEA § FRR sed 6w adt 2

2. ()

(i)

(iii)

(iv)

v)

3. ()

(i)

(@ 1 (b) 2
() 3 (@ 4
In a four wheel drive vehicle (4 WD), the numbers of gear boxes are
(@ 1 (b) 2
() 3 @ 4

AT 3 T A HEl AT ST & U i ?
Where the ‘Transfer Case’ is used and why ?

TRE A RTEAE ?
What are Power Brakes ?

die see & @ fafaa |
Write advantages of ‘Seat Belt’.

31 39 31 afea =rer o1 fa=ra o s |
Draw layout of front engine front wheel drive.

TEYE B TR 7
What is the purpose of suspension ?

Tl i wies fefen fafy gz |

Explain the procedure of cold retrading of tyres.

TgeeE T T a1 § 7 qgaeE s o f fafee |

What are tubeless tyres ? Write down advantages of tubeless tyres.

1082

(1x30)

(2x5)

(5+5)

4, TiEUEEE 3HIE Y Y T EEAC ? U ZTETHEE ST Y GO Td e b1 Hiw
guig i |

What do you understand by transaxle unit ? Describe the construction and working of a
transaxle unit with the help of sketch.

(10)

P.T.O.
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7. ()
(i)
8. ()
(i)

(8of8) 1082

A%-Fa T THR F Fenad a3 $ G S T g GHETE T 3k AM
faftau |

Explain the construction of McPherson strut type suspension system with the
help of sketch and write its advantages.

a1y Witk S 1 Amifha fom=me o 13w ug 59 wwesT |
Draw labelled layout sketch of air-power brake and explain it. (5+5)

Fusfera fBm a srawm fEm % yar & = 61 gam Hif |
Compare coil spring and diaphragm spring type clutches.
fafies feau fewmifire & g a srifafy i qwem |

Describe the construction and working of limited slip differential. (5+5)
wifts Wt fireen @1 afax avia fifse |

Describe power steering system with diagram.

T Tt o1 arfientor ot 3k & ferfiaw |

Classify piston rings and write their functions. (5+5)

3T 35 310 Ol ST Ud 31 g9 v g 9o fa=mat i geen fife )

Compare front engine front wheel drive and front engine rear wheel drive
layouts.

godl Are & fea i ger § uegfataam fe & @y fafiae

Write down the advantages of aluminium piston as compared to the piston of cast
iron. (5+5)

9. fo= & ol fim w wftrw feoaforat fafigu

Write short notes on any three of the following :

()

(ii)

H1e dee It — a3 9y sl

Seat belt mechanism diagram and working operation.

ferafin faweranatt & s

Causes of bearing failures.

(iii) IS TS e

Fluid fly wheel

(iv) F=he we 3ige die

Gaskets and oil seals. (4+3+3)




